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I. ن4: ا�ول ا���ر�ن  
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II. ن4:  ا����  ا���ر�ن  
 ا��� �� وا�$ر��ت ط#�، 18.5 ��و��"� �#"� 6و ط#�، 35.2 ��و��"� �#"�7 !ر��، 17 �ن  ط�ر ���ون
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III. ن6:ا����ث ا���ر�ن  

  .��(�د �1ط��0 #ر�د ،)ا�
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IV. ن1+ ن4:  ا�را�" ا���ر�ن 

  .�#���� ھ#د��� 
�3 وأ#(ز ا������ ا�9طوات ا��=
  .]AB[ ���*�م  ط$� ار�م) 1
2 (A�Bف �ن أ��ر �*در ا��دور ا�# AB، رة  وس وار�مDر�زھ� ا�دا� A .  
3 (�  . C ط�ا�#* B) ا6و�: ا�*وس �*ط= B �ر�زھ� داDرة  وس ار�م #��"� ا��دور ����
� 	�ر) 4��B ف �ن أ��ر( ا��دور�# AB  (رة  وس وار�مDر�زھ� دا� A .  
5 (�  . D ا�#*ط� B) ا�96رة ا�*وس �*ط= B �ر�زھ� داDرة  وس ار�م #��"� ا��دور ����
  . ا����*�م ار�م) 6
  . ]AB[ ��ور )CD( ا����*�م ���ذا ��ن -
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VI. ن4:  ا����  ا���ر�ن  
�  : ھ) ا�*ط�ر ��و�� #��("� �$ط) ا��) ا�$�'��ت �'�'

  ن2.................    7×6+35.2×128.5+18.5

�  : ھ) ا�*ط�ر ��و�
  ن2.................   ط#� 486.15

  
VII. ن6:ا����ث ا���ر�ن  
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�'#� ��: ا��$�'�"� ا��) ا��9 � !': ا�Gرب �وز�= ھ) أ واس �دون >م �; واس ا�$�'�
  ن1......  .ا�(�=

  
VIII. ن1+ ن4:  ا�را�" ا���ر�ن 

  .�#���� ھ#د��� 
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 D و  C ا�#*ط��ن �ن �ل 6ن ]AB[ ��ور )CD( ا����*�م -
� ����و���B����ن ا! (Bطر � ��*�ط= C ر��#� B*د] AB[ ا�*ط$
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